11 ~ Consider the following game tree. In this tree, high numbers represent good boards for X,
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‘ ) . 1. (7%%) Using the min-max technique obtain the value of each node.
— ~ (5%) The following numbers are entered into an empty sorted binary tree: 2. (3%) What move should X make on node A ?

3,6,9,12, 8, 15, 5, 10, 14

Draw the resulted tree

7~ ~ Briefly describe the following terms:

1. (5%) algorithm
~ (5%) Trace out the following algorithm as it computes X, (6). 2. (5%) divide and conquer algorithm
3. (5%) greedy algorithm
Procedure X;(n) Procedure X; (i, n, a, b) 4. (5%) knapsack problem
if n < 2then return(n) ifi<n 5. (5%) traveling salesperson problem
else return(X>(2, #, 1, 1)) then call X, (i+1, n, b, a+b) 6. (5%) NP-complete problem
endif endif ' 7. (5%) inheritance
end X; return(a) 8. (5%) polymorphism
end X> 9. (5%) deque
10. (5%) hash table
11. (5%) heap
12. (5%) binary search tree
= ~ (5%) Write a recursive function to find the greatest common divisor of two nonnegative 13. (5%) round robin scheduling
integers. 14. (5%) critical section

PY ~ (5%) Convert the expression A+B * (C—D+E ) - F * G to the postfix form.



